o REEES | ok AEES h PRz it RE | BE | HAkE
(m) (m) | (Fm*)

373410001 34100396 =vith = KETH 4889 13 137 123
373410002 34100438| 5 /& ith =ARETEHE1940 11 175 160
373410003 34100564|/MI| T ith =RET/NE445452% 25.9 217.7 600
373410004 34100787 B HRith =KET#MF 1239 9.7 290 956
373410005 34100792 T ith =RHET3H L1818 8.2 180 1395
373410006 34100796 | Z 3 félith =KETMF1237 3.57 218.2 128.6
373410007 34100804 | KR Eith = KRHETFEAR1035 4.2 396 167
373410008 34100806 | E T ith = KRETHF4891 2.6 480 403.2
373410009 34100810 [5&th = KETEH$1560 9 574 426.8
373410010 34100831 (= FHith = KETHE 4243 10.1 476 381.2
373410011 34100832 [$EHth =RETIK £4369—1 6.5 224.4 110.1
373410012 34100836 |$5 4 th = KRETHF955 115 240 2429
373410013 34100841 | ILKZFith = KRBT ES1439 12.1 360 372.8
373410014 34100843 —R% L th = KETRERE491 17.4 280.5 606
373410016 34100115 |%rth = KRETHF4745 4.9 83 16.8
373410017 34100143 |#14R =KRETRE{R47 6 285 20
373410018 34100243 |#rith = ARHETEERE101 9 55 11
373410020 34100322 |k & Frith = RHETRERE1852 6.3 116 50
373410021 34100350 ;th & it =KHET L& E1568 6 30 6
373410023 34100369 | & 0 ;Fith =ARBT L& /1391 7 50 10.5
373410024 34100370|E if L ith =KHET L& 1392 4.2 30 5.9
373410026 34100463 | A = KRETRERE2220 6 50 43
373410028 34100487 | (& it =KRHETREERE1012 7 10 7.2
373410029 34100563 |E5Hth = KRET/INEE296 5.8 52 5
373410030 34100611 |5R+ith = KHETEA =468 7 16 2.1
373410031 34100833 | /< BERE & ith =KHTIK E4527 5.2 242 14.9
373410037 341000764t & ith = KET# £1450 35 80 5.1
373410041 34100106 | &rith =ARHETFHF4784 4 20 18
373410042 34100113 (#EMH;th =KRHETHF4720 4 20 3
373410045 34100142 |#4R L ith = KET T & 2815 45 70 6
373410052 34100226 |RiEEL = KHET;th =385 4 30 2.1
373410053 34100241 |E4E it =RETRERE4 9 50 11.2
373410054 34100251 | A ATz Asith =RETRERE218-FR 4 40 3
373410055 34100282| B Hith =KETEERETO1 5 82 6.63
373410056 34100303 |18 & ith =KETEEEE2034 10 70 19.3
373410063 34100380| & & ith =KETEHF4418 27 30 1.1




o REEES | ok AEES h PRz it RE | BE | HAkE
(m) (m) | (Fm*)

373410066 34100400 [#2 T ith = RHETEE 1438 43 25 2
373410069 34100427 |#& H ith = KETH$5318 9 30 3
373410070 34100429 FER L th = KETH$5454 7 40 11.76
373410071 34100430 HER T ith = KETHE$5451 4 30 1
373410072 34100434 |#rith =KETEAE1714 11 35 16.5
373410073 34100436| 2 Mith =KRHETEAE1675 10 40 8.5
373410074 34100443 | H 7k $rith =RHETH k2884 5.7 54 2.7
373410075 34100448 |#rith =RHETH k2863 35 30 3
373410076 34100449 |78 B ith =RHETH k2876 2 44 6.6
373410078 34100452 | & A hith = RETEERE2799 7 49 11.9
373410081 34100550 | <&t = KRHETRERE2628 9.6 45 9.3
373410083 34100009 |37 & Kith = KHET 3 £3907 10 57 5.2
373410084 34100031 |Hhith = KHET3 £3258 8 60 10.1
373410086 34100086 |3E 3 ith =KRET T & 4287 3 25 2
373410088 34100099 | #& ¥ th = KRBT T & 3505 4 30 25
373410091 34100107 [=vTFith =KRETHF4783 45 20 2.4
373410092 34100112 [5&th =KRETHF4758 4 30 3
373410094 341001258 & ith = KETH F4444 3.9 30 1
373410096 34100138 (@&t =KRETTER2510 76 95 6.6
373410097 34100139 (1ETR & ith =KRET T = 2698 5 78 7
373410098 341001464t & jth = KHETEE{K602 4 65 6.3
373410099 34100160( L &ith = ARET T HE3283 4 40 2
373410100 34100166 |74 ¢ Lith = ARHT;t 72050 4.7 42 6.3
373410101 34100167| 767 T ith =KHETth 72046 4 45 15
373410102 34100169 | = E Tith =RHET#F1913 32 79 5.6
373410104 34100174 |h it =KRHETMF875 5.2 50 14.8
373410106 34100187 |&F&EF Lith = KHETthF682 45 44 7.48
373410107 34100209 [3Eth = KET# £2487 3.1 50 45
373410110 34100365| K& ith =KET L 51696 7 1274 495
373410111 34100820 |#&;th = KHET5K 2607 45 2125 395
373410113 34100004 |4+t £ ith =ARHETH £3885 3.7 20 08
373410114 34100005 |4+ T ith =ARHETH £3888 5.8 23 1.1
373410116 34100018 | Bt = KET# £3720 33 35 25
373410120 34100028 | A Kith = KHET# £3390 6.3 97 32.41
373410121 34100034 /M5 Kith =ARHETH £3120 6.1 65 6.3
373410122 34100047 |45:th = KHET# £2555 54 137 285




o REEES | ok AEES h PRz it RE | BE | HAkE
(m) (m) | (Fm*)

373410125 34100058| = BRth =KET3# £1630 3.8 71 4
373410134 34100109 |4 & ith =ARETHF4932 5 77 12
373410135 34100114 |4k & Kith =KRETHF4718 3.2 25 1
373410138 34100135| R 4 —ith = KRBT F = E896 7 130 25
373410139 34100140 |#rith =KRET T & 2630 4 50 3
373410143 34100165| 23T Kith = KRBT F & 3521 5 127 38
373410144 34100170| &5t =KETtF 1867 8 88 32
373410146 34100172| B &ith =AKHET#F 1675 4.1 54 7
373410147 34100176 |4}/ \ERith = KETtF867 6.2 76 16.7
373410155 34100192| H7<ith =AKHET#F 1997 8.8 72 4379
373410156 34100193|S9 it =KRETHMF2129 2.9 53 1.2
373410157 34100194 R Aith =RHET#F2121 36 81 10.3
373410158 34100198| K& ith =KHET#MF2153 35 30 1.2
373410161 34100206 | # - ith = KHET3# £2350 4 100 18
373410162 34100215|& )1l Lt = KRBT £3097-1 5 57 10
373410163 341002165 )11 T ith = KHET3 £3660 12.8 105 78
373410164 34100227 |58t =KETHMF271 4.3 1315 16.9
373410170 34100234 | R ER 25 ith =KRETHF979 7 30 2.5
373410184 34100372 |%rith = KHET5k _£4593 33 100 45
373410185 34100375 F ¢ ith = KHETK_£4558 4.1 80 245
373410186 34100377 | ANkt = KHETEi22313 13 80 31
373410188 34100390 | fEFith =KHETHH4753 8.2 72 40
373410189 34100391(<v4dith =AKRHETHF4743 2.7 90 8.4
373410192 34100404 | = th =KHETEAE286 8.5 134 67
373410194 34100432 |i&th =KETK 5414 1.8 91.1 40.44
373410196 34100437|Fa A ith = KETEAE 1749 43 45 2.9
373410198 34100442 |7%)11th = KHETEi 21846 55 34 55
373410199 34100444| kLt =KHTH k2887 3 15 1.1
373410201 341004464 1 ith = KHETH k2866 48 30 3
373410202 34100450ttt = KHETH k2823 5.9 45 33
373410203 34100453 |8/ Tith =RETEERE2798 7.35 62 8.1
373410207 34100515| X B & ith =KETEERE1582 5.8 76 7
373410216 34100571 |REHM =KRETEAE1112 9 65 18
373410222 34100601 | R Eth =RETEAE2007 2 20 1.2
373410223 34100602 H T 5125 =KRETEHE592 8 25 1.8
373410225 34100616|d;th =KETEHET08 5.1 35 22




o REEES | ok AEES h PRz it RE | BE | HAkE
(m) (m) | (Fm*)

373410227 34100622 |2 7Rith =ARETEE622 4 8 1
373410230 3410063017 Rl th = KRETEHE879 4 20 3.6
373410238 34100704|)113th =RETE11147 7 20 2.8
373410239 34100713|3& /;th = RETE|111093 10 12 2.9
373410240 34100714 | Bt =RETEL1115 2 10 1.4
373410241 34100729 |#irith = RETEH11696 10 25 1.4
373410242 34100732| 7 FIEith = RETHE11875 8 30 1.6
373410247 34100791 R A it =ARHETH E1917 15 65 715
373410249 34100797 |5t =RET3H £1041 35 350 12
373410250 34100798 | X LU HE Tith =RHET3H £1248 5.7 104 24
373410251 34100799 |3 L HE Lith = KHET3 £1503 4.2 102 18
373410252 34100800 B & Kith =KRET T & 4309 5 130 26.91
373410253 34100801 | R ER A &IFTith =KHETH L1168 5 61 145
373410255 34100803 |{& T4 ith =KRET T & 3684 5.4 80 22
373410258 34100819| K & ith = KRETHH2927 5.3 291 29
373410259 34100822 = th = KRBT F & 105 3.9 460 433
373410262 34100826 Ky LLjth = RETHF4141 4.2 200 32.23
373410264 34100828 |1 A th =KET L ER1172 3 126.5 12.9
373410265 34100829 |F Fith =KHET E&SE1295 5.94 2575 62.7
373410269 34100842| = B& T ith = KHETRERE4T6 6.2 123.2 54
373410274 34100020 Lt =ARETH E3773 1 23 1
373410278 34100045 A K Fith = KHET3 £2890 35 20 16
373410280 34100049 |5hE A ith = KHET3 £1683-2 3 30 14
373410281 34100050 |#et £ ith =ARHETH E1653 7 25 1
373410282 34100051 |#E it T ith =ARHETH E1655 45 35 24
373410286 34100072 |FbFith AEAM=AKRETKXF T =EF 4 25 15
373410292 34100096 | B 17ith = KRBT T & 3590 32 40 35
373410294 34100101 |LL o> 4t =KRET T & [E3482 45 30 25
373410296 34100110|Fs & T ith = AKRHETH F 4927 4 30 1.2
373410298 34100126|F oL ith = KHETH F4455 4 40 2
373410301 34100137 H Tith = KHET T & E2491 48 47 2
373410302 34100144 (L0 Lt = KHETRE{R587 5 20 1
373410304 34100150( FH T ith =KHETRE{K646 4 40 15
373410306 34100168 |Gt =KHETHMF1918 3 61 1
373410308 34100201|MCith = KETH £2272 48 30 2.8
373410316 34100239 th = AKRHBTRERES1 10 60 24




o REEES | ok AEES h PRz it RE | BE | HAkE
(m) (m) | (Fm*)

373410325 34100304 | LAt =ARETEERE2031 34 20 1.2
373410326 34100306 | & E¥ith = RHETRERE1981 48 20 2.1
373410328 34100311 |3E gt = RETREERE1942 35 20 0.9
373410331 34100318 (3 LLjth = KRHETRERE2051 3.35 26 0.9
373410334 34100334 =47 Fith = KRHETEERE2130 2.2 25 0.9
373410340 34100347 [H A th = AHET EERE 1542 5 28 3.2
373410341 34100348 |7 %5t =KRET L& 1561 55 23 3
373410343 34100351 | & 3Fith =KET LERE1577 4 20 2
373410353 34100381| Lth = ARHETHE #4401 3.6 35 48
373410356 34100407 |#rith £ = KETEAE 261 4 515 4.269
373410358 34100417 | P& ith =KRETEAES19 2 40 1
373410367 34100473 = Aith = KHETREREST8 8 18 19
373410368 34100491 |/Mfrith =KRHETRERE1166 4 20 0.4
373410369 34100493 | Z Mt ith =RETEL1315 28 10 1
373410370 34100500 |F 25 ith =RETE 111255 23 12 0.4
373410373 34100523 Fith = RHETREERE1571 1 22 18
373410383 34100617 | T :th =KRETEART10 6.6 23 1
373410384 34100620| K Eith =KETEAE916 4 16 0.4
373410385 34100626 |1 1Lt = KHETE 2949 7 12 1.2
373410386 34100629 (% Mt =KRETEAE691 4 9 48
373410392 34100711 | FH Eith = KHETELL1023 3.1 12 1.3
373410397 34100743 KIrHiith =ARBT/PETIN-2 8 20 1.2
373410399 34100755 |kE1E Lith = KET/NEE1094 45 30 1
373410400 34100758 |E& & ith = AKET/NE990 5.6 20 0.9
373410401 34100761| 2 HR Rt =AKET/NE1145 3 25 1.3
373410403 34100773|5#th T = KHETEL1113204 3.6 25 5.2
373410404 34100774 [5#th £ = KHETEL1113204 6.2 29 3.7
373410406 34100821 (& ith = KRET LS 289 4 35 2
373410408 34100865 T Aith = KHET$ £3000-40 8.8 54 2.588
373410409 34100866 |/\E3ith = KHET$ £ 2876-36 1.3 1428 6.543
373410411 34100868 | #rith = KHET# £3176-3 14 95 6.513




